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Meiosis Review Work (U5T3) TC  "Chapter 10 Outline" 
Halving the chromosome number
A. Meiosis is the nuclear division that reduces the chromosome number from ________  (2n) to __________ (n).

B. The __________ number refers to the complete number of chromosomes in a cell.

C. The __________ number refers to half the diploid number of chromosomes.
D. Which cells in the body have the haploid number of chromosomes? ____________
E. If sperm fertilizes egg, the resulting one-celled structure is called a __________. Which is ______________ (2n).
Homologous Pairs of Chromosomes
A. In a somatic cell, the chromosomes come in pairs, like pairs of socks.  For instance, human cells have 23 pairs of chromosomes.  What are these pairs called?  ___________________________________________
B. You have 23 pairs of chromosomes in any body cell, as stated previously.  The pairs are numbered 1, 2, 3, 4, 5, 6….23.  How did you get the chromosomes for each pair? ________________________________________
Overview of meiosis
A. Meiosis requires _____ nuclear divisions (called Meiosis I and Meiosis II) and produces _____ daughter cells.
B. The parent cell that divides by meiosis contains a ________ number of chromosomes.

C. The daughter cells contain a __________ number of chromosomes.

D. Are the daughter cells in Meiosis genetically identical to the parent cell? ______________
E. Prior to meiosis I, what had happened to the DNA? _________________________________
F. At end of meiosis I, two daughter cells form.  Do these daughter cells still have homologous pairs of chromosomes? ___________________________
Phases of Meiosis
Prophase I
A. As centrioles move toward opposite poles, which structures begin to form? ________________
B. What is happening to the nuclear membrane and nucleolus? _____________________ The chromatin?_____________
C. What happens to homologous chromosomes? _________________________________
Metaphase I
A. Where do homologous pairs line up?  ______________________________
Anaphase I
A. What happens during anaphase I? _________________________________________________
Telophase I
A. If the cell is to split in two, which process occurs to split the cytoplasm? __________________
Meiosis II and Gamete Formation
A. What lines up during metaphase II? _________________________
B. Describe what is happening during anaphase II. ______________________________________
C. In telophase II, what happens to nuclear membrane? [same as what would happen in mitosis telophase, the last stage]
D. At the end of meiosis II + cytokinesis, how many daughter cells form? ___________________
E. Are the daughter cells haploid or diploid in chromosome number? ___________________

F. Are gametes genetically different or genetically identical? _____________________
Meiosis Compared to Mitosis
I. Meiosis has ___ nuclear divisions while mitosis has ___ nuclear division.
II. Meiosis + cytokinesis produce ___ daughter cells while mitosis + cytokinesis produce ___ daughter cells.

III. Meiosis + cytokinesis produce daughter cells that are __________ in chromosome number while mitosis + cytokinesis produce daughter cells that are _________ in chromosome number.
IV. Meiosis + cytokinesis produce daughter cells that are ___________ to each other and to the parent while mitosis + cytokinesis produce daughter cells that are _________ to each other and to the parent cell.
Meiosis II Compared to Mitosis
1. If you understand what happens in mitosis, you know what happens in meiosis II.  The main difference is that nuclei going through mitosis contain the __________ number of chromosomes while nuclei going through meiosis II contain the __________ number of chromosomes.
Matching the phases of Meiosis to their picture.

Labe l the following images with the correct phase of meiosis.
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